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w=VxY

(Y = 7.85 kg/dm?) -;,y?ﬁ-—fg,:;(,;_g-ﬁmu::z.us Fia J
WaVaxY
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Vi= A ~h
Ar=20 « 20 - 400 cm?
Vi=400cm? « 19,5 cm vi

= 7800 e -

VieAzxh
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|
|
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- 152« 3.14 _ 177 cm?
s L ) 12,052

V=17Tcm? « 225¢m
= 3982 cm?
V = 7800 cm® + 3982 ¢
= 11782 cm® = 11.78 dm?
w o= |1.78dm’ « 7.85 kg/dm'
=9247kg
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(Y - 8.7 gicm?)

w=V=Y :d*/
V=Axh
A=A+ Az
Ay =675em’
Az=353cm*
A=675+353=1028
V=1028cm?= 1.0cm 10.28 cm?
W = 1028 em?= 8.7 g/cm’ =~ 89436 8

For 200 pieces

Total weight = 89.436 g = 200
- |7887.2¢
or - 17.887 ke

: L'/(}z.;;,;;_t,_/':‘m} L _—na

uuld’?:;‘; ggigfy}f T @sTU :‘._1_‘}11}6_,'} f_%;’,f_" f‘}_-_f:f"[f Jﬁéﬁ b
uis Jeput- sl bk 3 ke LS ¥
'.1.‘/:'#' ( Liotal ) (ji:l'l,f’( (W unit) U';"LJI:JI.;'@“_LLL)?JM { W 1ol )
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Wiat= Wunit * Liowl

(1207 f;-u_)?}'@.-}#’f,u«f,;‘};:“{ 2600 dolid 2L 60 < 60 dt'.—ﬂ"
Wognit = 233 kg.p'm : (’L—/’

Leow = 2600mm = 2.6 m

¥ —— Womt = Wunit * Liowl
2600
1207 2 - 283 kg/m=2.6m
“Im= 283ke = T73.58kg

(e dinry 2240
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14 1,84 1,21 1,33 | 2855 | os8| 8 | 62.8 | sOwe0xs | 2.@
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20 | 3% 2.47 272 | 35x8 | 1.37 |12 | 9 WSnibn? | 4.80
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28 | B8 4,83 533 | ox28 | 7.85| 18 [ 120 ShES | 8.47
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Wastage = Volume (estimated) — Volume (finished)
- Weight (estimated) - Weight (finished)
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L
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e -m -l
& Vi=Vi+ V2
13.05
Vi=A xh
. y = 50,24 cm? = 10 em = 502.4,cm’
P
Ve = 3450.2 cm® = 100 % Vi = A xh
Vo= 1251 em* = 10120, = U3gyem? 15 em = 169" 6em’
- 362 % Vi = 502.4cm? + 1695 ¢ em?

=219%¢ cm!
V, = 34502 cm® - 2197 g cm?
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N S A
At Ay i e L Gn e 1306 20 JE



95

- Bl 2l 300 400 U
r- ) "l

Y 1 J

13,06 -
(A) BN al (M) ol Ay 3 g s =

: J"l.; A

A, =30cm =« d0cm = 1200cm
M.__,__‘-U;ZB x30

= —e—a X ]ﬂ
2
Ar o= 102 em?

SoAL - 1200 em® = 1020 em?

150 cm?

Wistane . 10100 _ )., s b JLE

8 e .'.'-"'-L AT L CCIOPLE [ ::L'..’ii‘--"‘tﬁﬂjj:;
Cpp b L

\..-r
| ] ‘ b = 1 ' .-" : I*L:P'.d
o g — e | L ML )

i WCERL | s I 3 - I8

2 J Lo o 2u0nm — (0K} mm

¥ omn



96

13 (3

u-"f' B I T R ) T WY T S
d‘“ﬂtjlr’.u V27 ¢ 200 g (13.08 &)
(1309 ) -Fotboust

..
I
FE ]
0
|
1]

oih

120

13.08
A3, lﬂJ‘:;J/?;“'t,Llu‘#J 3
=t ARA ,.‘f-ff,li“g,ﬁ"u"{ (Bronze) 6 (a)
_fg’ l.-r.-_'.-;,r',ﬁ/-"u" Jfr'
Y o et LU LG )

5 ;—W&D‘fpwfu‘—"b(iuﬁ J‘m.--f
T ST

e i B —
|
|
|
LT B
- _" :
I
TN

'En —
~ 2
— A ——

—_

1310

—zl s U/ bt e },—(.l:' (b2 Q:’C" f.r"'lfg (& ufJ" b= (b).2 |{a}¢,!){ “ i (c)

i s e 4

(1312 ) (1341 )
e T, o
i O
B e
e e 00—
]3?2“#& H”J'-'-'}
u‘nkdwi&‘ &Lu.; 6 % £33 Al A b 1313 et
e s s s et
i g ek A 1 H#d/uu“.i-bébéf (a)
i / S -k )

e



97

14

b -
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+0.06] R
256 438
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L0017 o P
#25H a @25
~0 47 e
0,027 L R Y7
25% = 925
IV B8 oo 14.03 S
AR - & - e L
ik 1404 U g L CAE A (Figures)
- ays +0 0 Zore une
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Nominal size = 35 mm 2
S e e Upper off - size = } 25mm = +0025

e it Loweroif n it -
szesimm| v (e Shatt maximum size = 15+ 025-35.025mm
over to| H? | r6|né | |6 |e8 g9 minimum size=35.000mm .
Wt | g loaw ;| og |-33 '-53] i -
e8| O |+23 |2 |3 es -3 {#9.5rﬁ ‘b di !

Nominal size = 95 mm
b= LT TR BT S P W s ole ;
2..30| O |«281.18 -« -7 -1 Upper off - size = + 35 wm = 0,035 mm
3040|235 |50 .3 |11 |-50] 80| LOWeroff-size =0
G5 501 o |ael |y L%l maximum size = 95 + 0035 - 95.035 mm
| A ar—t—t minimum size = 95 000 mm
50 65 .90 ‘at .38 |.12 |60 -0 Shaft s
65 80| © [47]-%| -7 |-N6 %) Upper off - size =73 & m = + 0.073 mm
80 100] . [227 [.ue|.13 |22 | 1| LOWeroff-size = + l'glm-+{],[15| mm
e B ‘if"“ § | we 207 maximum size = 95 + 0.073 = 95.073
L : = minimum size = 95 + 0.05] - 95,051 mm
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(14.08 (Clearance Fit) "-"?"U%-_'”A
- - . - H T Lt L S
. ﬁgg'&!:;;;")ﬁ' s Al b s Iz Wit Al BACILK, s

(max. clearance - max. hole size — min. shaft size )

E g : #LAVEL - e
i i LW _ ILbg
£ f_ § ; ( min. clearance = min. hole size
- ~ max. shaft sizc )
7 . ST )
maximum clearance = max. hole size — min. shafl size
= 40,025 mm — 39911 mm - 0.114 mm

14.05 J minimum clearance = min.hole size — max. shaft size
= 40.000 mm — 39.950 mm v'ﬂ.USU mm

( Interference Fit ) 4_-".43': ‘)—7‘!}:! — i
A G LAL NSt Fodesl o e S G AN
(1406 &)

PR A . U"/?}" ol gl
| AL VL7 A
£ (max. Interference = max. shaft size
5 — min. hole size)
edagiiie . paplet
A e K P — T

/é {min. Interference = min. shaft size

‘}d —max. hole size)
14.06 91351?;‘)1 A4

maximum Interference =max. shaft size — min hole size
= R5.073 mm — 85.000 mm = 0.073 mm

minimum Interference = min max. hei. size
- B5.051mm — 85.035 mm = 0.016mm

. & »
« ( Transition Fit) w2 = _'.'flj——ld.i

7

J-(1407 S5
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(max clearance = max. hole size—
min. shaft size)

pe oy é LS - W [ =)
R o (e
(max. Interference - max. shalt size

1407 f° — min. hole size)
p60 3 2 JLEA

max. clearance — max. hole size — min. shaft size

= 60.030 mm— 59,993 mm

T T e
|
ﬂ inlgrigrence
Shafl (olerance

e
:lh_f__lr_I! fance

= 0,037 mm
max. Interference = max. shaft size — min. hole size
= 60012~ 60 Liv = 0012 mm

S AT NS I N A 2
g2’ 12 JE~
Hole: max. size = 20,021 mm shaft; max. size = 19,935 mm
min. size = 20,000 mm min. size = 19.883 mm

,?géwﬁé:gj@iﬂ-fbﬁdj O P e FLPg
g0 1 JE
shaft: max. size = 70.039 mm
min, size = 70.020 mm
Firbre AL S AN
(max clearance = max. hole size — min. shafi size)

= 70,030 mm- 70,020 mm = 0.010 mm
Fipthe Al G A NS

r

Hole: max. size = 70030 mm
min. size = 70.000 mm

(max, Interference = max. shaft size — min.hole size)
= 70.039 mm— 70.000mm = 0,039 mm
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